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== (A) A (B=C-D) | ZHM(C) ALZH(D) |  (A+B)
g 23,365 | A 363 | 38,347 | 38,710 23,002
NP -PE] 4 - - - 4
ZolHDISMRAEFEIRDI2 - - 400 400 -
CEERSEIE: 833 84 120 36 917
Co=ERII2 560 -6 34 40 554
NEL =PI - 256 318 62 256
=PNENEINEPIE 685 5 37 32 690
PSPl 6,09 | A 173 | 1,298 | 1,471 5,906
ERXEIIZ 4,718 | A1,322 | 3,384 | 4,706 3,39%
=PI 1,929 358 401 43 2,287
AZXEIZ 814 99 156 57 913
R ERIERE = 602 20 26 6 622
4-HE=2150|3 152 6 6 - 158
NEEEIPIE 6,290 953 | 2,223 | 1,270 7,243
UMD AATFINATIS - - 600 600 -
SO EYERIHEADI2 699 | A 643 | 29,344 | 29,987 56
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